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Multiplication 506

Why aren't elephants allowed on the beach? Because they
can't keep their trunks up!

Multiply these numbers.

1L 12x3= 26. 12 x1-= 5. 11 x9+= 6. 11 x5=
2. 12 x6 = 271. 12 x 6 = 52. 11 x3= 12 x2 =
3. 12x6 = 28. 12 x1-= 8. 12 x1-= 8. 12 x2=
4 12 x11= 29 11 x2= 5. 11x4= P11 x7=
> 12x8= 3012 x1= %12 x12 = 80 12 x9=
® 11 x10= 8. 11 x9= 6. 12 x8= 8. 11 x6=
7 12x3= 2. 11x8= 5 12 x12 = 82 12x1=
5. 12x10 = B 120x11= %8 11x1l= 8 11x11=
® 11x11=___ 3 11x5= % 11x10= 8 11x7=
100 12 x 12 = B 12x4= 60 11x7= 8 12x2=
111 %12 = % 12x7= 6L 11x9= 8 1]x2=
2. 11x12=__ 3 11x5= 6 12x2= & 12x8=
1311 x3= 38 11 x12= 63. 12 x1= 88. 11 x2=
4 11 x7= 3. 12 x4 = 64 11 x5 = 89. 12 x7 =
1511 x11 = 40. 11 x3 = 5. 12 x 12 = 9. 12 x 11 =
1 12x1= 4. 12 x6 = 66. 11 x7 = ol 11 x4 =
1712 x5 = 42. 11 x 10 = 67. 12 x7 = 92. 11 x4 =
18. 11 x4 = 43. 12 x1 = 68. 12 x5 = 93. 12 x8=
19. 11 x6= 44. 12 x Q = 69. 12 x2 = 9. 11 x3=
20. 11 x11= 45. 12 x 6 = 70. 12 x 8 = B 11 x2=
2. 12 x5 = 46. 11 x 3 = 1.12x%x9= %. 11 x2-=
22 12x8= 47 12 x 1= 2. 11 x4 = 97. 12 x6 =
2. 11x1= 48 11 x5 = 3. 12 x2= % 12 x 11 =
2411 x7= 4. 11 x7= 7412 x4 = 9. 11 x5=
212 x7= 50. 11 x 11 = 7511 x3= 100. 12 x 12 =
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Multiplication 506

Why aren't elephants allowed on the beach? Because they
can't keep their trunks up!

Multiply these numbers.

1 12x3=36 26 12x1=12 5. 11x9=99 76 11 x5= 55
2. 12x6=72 2 12x6=72 52 11x3=33 77 12x2= 24
3. 12x6=72 28 12x1=12 58 12x1=12 78 12x2=24
4 12x11=132 2% 11x2=22 5 11x4=44 7 11x7=77
5 12x8=96 30 12x1=12 55 12x12= 144 8 12x9= 108
6. 11x10= 110 3. 11x9=99 5 12x8=96 8. 11x6= 66
7 12x3=36 3% 11x8=88 5 12x12= 144 8 12x1= 12
8 12x10= 120 3 12x11= 132 5 11x11= 121 8 11x11= 121
% 11x11=121 3 11x5=55 5 11x10= 110 8 11x7= 77
1012 x12= 144 35 12x4=48 6. 11x7=77 8 12x2=24
M 11x12=132 36 12x7=84 6. 11x9=99 8 11x2= 22
12211 x12=132 8. 11 x5=55 62 12x2=24 8. 12x8= 96
13- 11x3=33 38 11x12=132 6 12x1=12 8 11x2= 22
W11 x7=77 3 12x4=48 6 11x5=55 8 12x7=84
1511 x11= 121 40 11 x3=33 6 12x12= 144 9 12 x11= 132
1612x1=12 4. 12x6=72 66 11x7=77 9 11x4= 44
17.°12x5=60 4 11x10= 110 ¢ 12x7=84 92 11x4= 44
18 11x4=44 4 12x1=12 6 12x5=60 9 12x8= 96
190 11 x6=66 4 12x9=108 6% 12x2=24 9% 11x3= 33
20 11x11=121 4 12x6=72 7 12x8=96 9% 11x2= 22
2l 12x5=60 4 11x3=33 7L 12x9=108 % 11x2= 22
22 12x8=96 4 12x1=12 72 11x4=44 9 12x6= 72
2. 11x1=11 48 11x5=55 73 12x2=24 9% 12x11= 132
24 11 x7=77_ 4 11x7=77 7 12x4=48 9 11x5=55
2 12x7=84 50 11 x11=121 75 11x3=33 100 12 x12= 144
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